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Difference of B.P and M.P in oxygen and sulpher can be explained by

(1} Atormicity (2) Abomic mass {3] Elecronegativity {4} Electron gain enthalphy
{1}

The large difference between the meling and bolling points of axygen and sulpher may be explained on
the basis of thedr atomicty. O: exist as diatomic molcule where sulgher exist as polyatomic molecube S g

Which of the following strong oxidising agent?

(1) Eu* {2) Ce?* (3) Ce** {4) Eut?
(4)

M will reduce iself to stable (+3) so, i will be good eddizing agent.

If 280 kg CO and 2320 kg of fexOe are made to react according to
fex0y +4 CO - 4C0; +3Fe

what is the weight of Fe produce (in kg)

Given : Mol. Wt of CO and Fe20s are 28 and 232 u

{420)
fes0y  + 4C0O = 3Fe + 4C0;
M 10000 10000
{LR)
M 10000 x% =500

Wee =7500 x56 g =420 kg

A reaction i non spontaneous at freezing point and spontanecus at boiling peint select the comect
oplbon

(1} Both AH and AS ane posiive (23 AH =0, AS =0

(3} AH =0, AS =0 4] Both AH and AS are negative
(1)

Case | Case Il

AL freezing point At boilng point

AG =0 AG =0

AG — TAS =0 AH -TAS <0

|AG| =[TAS| |AH] =[TAS|

Standard potental

(i) Fed* +3g —» Fe; E] =Z volt
(i) Ag* +1e- — Ag: EY =Y volt
(i) Fe* +2e- — Fe: ES =X voit
Find E2 of reaction Fe®* +Ag* — Fe?' + Ag {s)
(1) {Z- 2% +3¥)wolt (21X —2Y +3Z)volt (3 (Y - 2Z +3%) volt {4} (Y — 3Z +2%) voit
(4)
Fed+ +a- _; Fe2t
(i) ={i) — (i)
AGE = AGY - AGY
—LfES —_3FED L 27EY
EQ=3F9-2¢0 =37 _ 2
E® =EE‘1 —E',‘"_,_.; S¥—ER s =Y—3F %2
Ag Fe™ Fu
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B. In a process pressure of gas is directy proportional to temperature then choose cormect option
(A} Process is isochoric
(B] Work done in process is 2ern
(C) Intemal energy increases with increase in temperature

(1} A and B ane comect (2] & and C are comect
(3} A, B and C are cofmect (4} B and C are comect
Ans.  (3)
Sol. P o TV, n=constant)
7. 1 mole of a complex with molecular formula CO {NH2)s Cl produces 3 mole ions upon complete
ionisation. Upon adding excess AghO-=, 2 mole AgQ are precipitated. Complex s
(1} [ColNH:=CHCEH (2} [ColMHa)ClzJCLNH3
(3} [CoiNHz)=Cla]. 2MNH3 (4) [ColMHCIICl. NH 3
Ans. (1)
Sol. 2CI should be outside square bracket. Also, Co?* shows CH =6

. Complex : [Co{NHz)sCl] Ch

A Consider H:0, NHa, CHs and select oomedt staterents:
{A) All are sp? hybridised
(B) Bond angle H-0O-H, H-N-H, H-C-H are 104.5%, 107°, 109.5°
(C) Dipode momenk: CHa =NHs <H:2D
(D) H=O-and NH: are lewis base and lewis acid
[E)] NHz in H:O is basic in nature

(L)A. B, CandE {214, B and D (31A.C. D {4)B, D. E
Ans. (1)
S5ol. Both NHiand Hz0 behave as lewis base.
9. Which of the following is not true combination from ghven siaterment.
[a) Elements in periodic table are ineady armranged with atoemic welght
(b} Elements in periodic @able are lineary armanged with atomic numiber
[} Ebernent having similar electronic configuration are amanged in same group
[d} Using periodic table we can identify in which subshell last electron enters
(e} Eotopes of an element are placed in periodic table.
(1} a. e only (2] b, e anky [3) b, c, d only {41 a, c, d, e only
Ans. (1)
If the k= of CriOH Yz i Lo x 10-3° M2 the molar solubility of salt in water is
(Lexaa® )" 16 . w) (160 . n )"
w|=53 | (2) [ —=~10 ] @ |55 10 (4) Nore of these
Ans. (1)
Sol. CrOHp(s)s=—= Cr"+30H
5 35
ben =[Cr3*] [OHF =s(3s5)®
=27 5%

. =| 16x102 )"
o
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11. Select the comect graph.

pn"'. ; . =K
AR o
(1 ? 2)
£
S
PJ
(3) (4)

To
(3)
T at which VP =V Piqua Is freezing point of solution is less than that of solvent.

3

O
12 5 is formed by ozonolysis folbvwed by aldol condensation of Alkene. Alkene can be:

Ry oL WL

{1}

o

Ribose present in DA

[A) K is & pentose sugar

(B] It = a present in pyrancse form

[C] It is present in D-configuration

(O} It s reducing sugar in free fomm

(E) a anomernic form is present.

Comect options ang &

(LA C D (2})A . B. D (NABCDE {4)A.C. E
Ans. (1)

MIrogenous

=

Sugar
{decoynboss)
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14.

Ans.
15.

5§

17.

=

oF

Arrange following for reaction rate with nucleophilic attack

[a) Acetophenone (b} p-tohialdehyde

() Benzaldehyde (d) p-Mitrobenzaldehyde

(lld =C =h =3 (2la =c =h =d {(31d =b =c =3 (4)d =3 =b =c
(1)

VWhich compound react fastest with HBrY

; (X g
(1) U (2} (3) @ (4)

(1)

Stability of carbocation is maximum is?

(1) O, (2} oy O
&= e

B} An O # As~p

. =

Staternentd : Dumas method s used for estimation of Mitogen.

Staterment-ll : In Dumas method Nitrogen present in compound is converted to (MH 21:250:
(1) Both Staterment | and statement Il are true

{2} Both statement | and staterment Il are fake

(3} Statement | is true but statement |1 is false

(4) Statement | is false but statement i is true

(2)
CH3-C=CH —:HE50,
o

/ﬂm /QHHI ’JT[/
1 2 3 4

(1} 1 (2) N { },,,i\.yl\ (4) RIH:
{1)

Statermentd : CH—CHCH—CH—CI| +0H® — Beaction is favoured in less polar solvent.
Staterment-ll : CHa-CH—CH-—CH=—C1 +R:N —— Reaction s favourad in more polar sohvent
(1) Both Statement | and statement!l are true  {2) Both staterment | and statement |l are fake
(3} Statement | is true but statement |l is false  {4) Staternent | ks falkse but statement Il is true
(1)
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